S
N
- J Iho o °o| o
| - Ezgf gl;:D
. 1313 _
Fo
3
(0,8
A—E'L T v el ——
2 = 7 7
|| || - -
COMPLETE TROLLEY

PARTS LIST - PART NUMBERS IN BRACKETS

X 2 X2 X2

(TH4843) (TH4849) (TH4850)
T
(M8 X 25) (M8 X 20)
ij16 @XZO
(F2502) (F2501)

(F891)

(TH4851)

(M8 X 16)

R

TOOLS NEEDED:
2 X 13MM SPANNER
8MM HEX DRIVE

X4
(TH4862)

(TH4876)

I
% I
X 2
(T12500)
° 3 X 4
(T13301) (TH4875)
S O
1 | 1 X2
X2 X2 X2 X2 (G3501)

(T24000) (T24000) (T24000) (T24000)

| DOVRHTY |

TITLE

COMPACT TANK TRAP
TRANSPORTER TROLLEY

DWG NO
T54269 SHEET 1 OF 6




1. HAND TIGHTEN ALL FASTENERS UNTIL FINISHED

X 8 (M8 X 20)
(F2501)

SX 8
(F891)

@ X 8

(F934)

X 2

) X2
(TH4848)

(TH4851)

3 (M8 X 20)
- X4 X4
(F2501)  (F891)

ﬂ!quégﬁfﬁfggggb
(TH4850)

=

)

Ox 4
(F936)

= (M8 X 25) <

"V\

X4 £X8 X8 ([@xs U
(TH4862) (F2502)  (F891)

3.
(LH)

|

X 1 X1
(TH4875) (TH4876)

®)

X1
(G3501)

O

£13(M8 X 16)

(F2500)

SX 4
(F891)

(OX 4
(F936)

IS

1080

Y

X2
(T24000)

o)

X
(G3501)

O

X4
(T13301)

TITLE

COMPACT TANK TRAP
TRANSPORTER TROLLEY

DWG NO
154269

SHEET2 OF 6




5. HAND TIGHTEN ALL FASTENERS UNTIL FINISHED b.

s X 8 (M8X20)
SHX 8
(F891)
(D X 8
(F236) £/ X 8 (M8X25)
“(F2502)
SX 8
(F891)
X8
(F936)
8.

600
500
0
500
N ]
/

TITLE

COMPACT TANK TRAP
(T12500) TRANSPORTER TROLLEY

(T12800)
U DWG NO
154269 SHEET 3 OF 6




TITLE

TRANSPORTER TROLLEY

COMPACT TANK TRAP
DWG NO

SHEET 4 OF 6

154269

WHEN FINISHED: ENSURE ALL FASTENERS ARE NOW FULLY TIGHTENED




1.&

POTENTIAL FINGER TRAP

i) START STACKING FROM THE
FRONT OF THE RACK.

i) ENSURE TANK TRAP IS FACING SLOT

STACKING INSTRUCTIONS

2,

i) LINE UP SECOND TANK TRAP
RECEIVER WITH THE SLOT ON
THE FIRST PLATE

SIDE UP.
ii) REPEAT STEP
i) PLEASE ENSURE TANK TRAP
KNOB IS PARALLEL TO BASE
PLATE.

i) THE BOTTOM KNOB OF THE FOURTH
TANK TRAP SLOTS BETWEEN THE BASE
PLATES OF THE 13T & 2ND TANK TRAPS.

ii) ENSURE THE KNOB IS PARALLEL TO
THE PLATE, OR IT WILL FOUL.

i) REPEAT STEP 3 FOR FINAL PLATE (BOTTOM
KNOB WILL FIT BETWEEN SECOND AND
THIRD BASE PLATES).

ii) REPEAT ALL STEPS FOR FRONT RACK

TITLE

COMPACT TANK TRAP
TRANSPORTER TROLLEY

DWG NO
154269 SHEET 5 OF 6




CASTOR LOCK INSTRUCTIONS

CASTOR LOCK OPEN

FRONT WHEELS HAVE 360° FREEDOM

THE CASTER LOCKS ARE USED TO CONVERT
A TROLLEY FROM A 4-WHEEL STEER TO A 2-
WHEEL STEER CONFIGURATION. THIS LOCKS
THE FRONT WHEELS, ALLOWING ONLY REAR
WHEELS TO STEER FOR MORE CONTROL.

USING 4-WHEEL STEER MAYBE PREFERABLE
FOR PARKING OR STEERING THE TROLLEY
WHEN A SECOND PERSON CAN ASSIST.

THE USE OF THE CASTOR LOCKS IS
RECOMMENDED ON SLOPED OR UNEVEN
SURFACES, TO CONTROL THE TROLLEY FROM
UNEXPECTEDLY VEERING OFF COURSE.

CLOSING LATCH LOCKS THE WHEEL

LIFTING LATCH UP RELEASES WHEEL

CASTOR LOCK CLOSED

FRONT WHEELS HAVE BEEN LOCKED IN
FORWARD POSITION

| DOVRHTY |

TE  cASTOR LOCK
INSTRUCTIONS

DWG NO
G3508
SHEET 6 OF 6




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View9
	Drawing View10
	Drawing View11
	Drawing View12
	Drawing View13
	Drawing View14
	Drawing View15
	Drawing View51
	Drawing View52
	Drawing View70
	Drawing View72
	Drawing View74
	Drawing View76
	Drawing View78
	Drawing View97
	Drawing View101
	Drawing View131

	Sheet2
	Drawing View24
	Drawing View25
	Drawing View27
	Drawing View48
	Drawing View53
	Drawing View54
	Drawing View55
	Drawing View57
	Drawing View58
	Drawing View102
	Drawing View103
	Drawing View104
	Drawing View105
	Drawing View107
	Drawing View108
	Drawing View109
	Drawing View110
	Drawing View111
	Drawing View112
	Drawing View113
	Drawing View114
	Drawing View115
	Drawing View119
	Drawing View120
	Drawing View121
	Drawing View122
	Drawing View123
	Drawing View132

	Sheet4
	Drawing View46
	Drawing View47
	Drawing View49
	Drawing View50
	Drawing View60
	Drawing View61
	Drawing View62
	Drawing View66
	Drawing View67
	Drawing View68
	Drawing View124
	Drawing View125
	Drawing View126
	Drawing View127
	Drawing View128
	Drawing View129
	Drawing View130

	Sheet3
	Drawing View29
	Drawing View30

	Sheet5
	Drawing View134
	Drawing View137
	Drawing View139
	Drawing View140
	Detail View  (1 : 5.5)

	Sheet1(2)
	Drawing View142
	Drawing View143


